. VCE & PDF https://www.pass4itsure.com/p2090-050.html
g 2024 Latest passditsure P2090-050 PDF and VCE dumps Download

PassditSure.com

P2090-05095%4S

IBM PureData System for Analytics Technical Mastery Test v1

Pass IBM P2090-050 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/p2090-050.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

P2090-050 VCE Dumps | P2090-050 Practice Test | P2090-050 Exam Questions 1/3


https://www.pass4itsure.com/p2090-050.html
https://www.pass4itsure.com/p2090-050.html
https://www.pass4itsure.com/p2090-050.html

VCE & PDF https://www.pass4itsure.com/p2090-050.html
a 2024 Latest passditsure P2090-050 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Given a plan ID, how would you obtain the query execution plan? (Choose two.)
A. Turn ODBC tracing ON.

B. Issue "SELECT * FROM _V_SESSION;"

C. Go to the query history within the Windows NzAdmin GUI tool.

D. Run EXECUTION PLAN before the query has been submitted.

E. Issue "SHOW PLANFILE ;" after the query has been submitted.

Correct Answer: CE

QUESTION 2

What two characteristics can be changed when using the CREATE TABLE AS (CTAS) statement to copy TableA to
TableB? (Choose two.)

A. The views on TableA.

B. The privileges on TableA.

C. The distribution key of TableB.

D. The materialized views on TableB.

E. The order of the data stored in TableB.

Correct Answer: CE

QUESTION 3

Which statement is true about the groom feature?

A. Groom allows the user to add row level security.

B. Groom validates primary key constraints on the table.

C. Groom reorders rows based on the DISTRIBUTE ON clause.

D. Groom allows the user to reorganizetables based on the ORGANIZE ON clause.

Correct Answer: D

QUESTION 4
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What function can nzbackup perform?

A. Back up pg.log files.

B. Back up TEMP tables.

C. Back up host data (catalog metadata).

D. Back up the data using the specified number of streams.

Correct Answer: D

QUESTION 5

Which statement istrue regarding the compress engine?
A. Compression ratio is data dependent.

B. Compression is performed by the host.

C. Compression degrades data scan speeds.

D. Compression is performed by the SAS switches.

Correct Answer: A
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